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Solved Examples

1. Using the number line , write the integer which is :
(i) 3 more than 5

(ii) 4 more than -1

(iii) 5 less than 3

(iv) 2 less than -3

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_9BpdIuQgibjg

’ ’

2.Fill in the blanks by the appropriate symbol * > " or ' < ’in each of
the following cases :
()0........3 (i) —4.........0 (44t) — 9.........—15

(iv) —37........ 17  (v) —10.......10  (iv) —163......... — 236

o Watch Video Solution

3.Add +7 and — 4 and show on the number line.

o Watch Video Solution

4,Add +3 and — 8 and show on the number line.

o Watch Video Solution

5.Add —3 and — 6 show on the number line.

o Watch Video Solution



https://dl.doubtnut.com/l/_IM1tJUahvzxL
https://dl.doubtnut.com/l/_J5TxGCP5sFCB
https://dl.doubtnut.com/l/_KJWFhgvfeaVD
https://dl.doubtnut.com/l/_J8kg1w0eWsfD

6. Add the following integers :

() +27 and +19  (ii) —42 and — 35

° Watch Video Solution

7.Add the integers —5928 and — 965.

A. — 6893

B. —4963

C. 4963

D. 6893

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_J8kg1w0eWsfD
https://dl.doubtnut.com/l/_HQXFq8oxmnIN
https://dl.doubtnut.com/l/_0BMnLplEViTm

8.Add :
(i) — 36 + 19
(i4)49 + ( — 27)
A (i) — 17
(i8)77
B. (i) — 16
(i6)12
C.(i) — 17

(i3)22

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_bTqVmIAc7l3m

9.Add : ( — 2055) + 679.

A. —2376

B. —1376

C.—3376

D. — 5376

Answer: B

° Watch Video Solution

10.Add : ( — 236) + (573).

° Watch Video Solution

11. Find the sum of — 8,23, — 32, — 17 and — 63.

° Watch Video Solution



https://dl.doubtnut.com/l/_cgKWAMKGXODA
https://dl.doubtnut.com/l/_2YlymEQqrvsT
https://dl.doubtnut.com/l/_NKEjWKmoQALP

12. Find an integer a such that
(1)24+a=0

(it)a+(—6) =0

° Watch Video Solution

13. Subtract :
(i) 7 from 2(ii) — 8 from 5 (iii) 4 from — 9

(iv)-7 from -5

° Watch Video Solution

14. Subtract :

(i) — 2459 from 5128
(i1) — 1040 from — 687
(414)347 from — 58

(v) — 728 from 0



https://dl.doubtnut.com/l/_NKEjWKmoQALP
https://dl.doubtnut.com/l/_16JgpPJmYcMJ
https://dl.doubtnut.com/l/_yLRZlDXhMwlY
https://dl.doubtnut.com/l/_kursyza2nUQb

| o Watch Video Solution

15. The sum of two integers is — 27 . If one of them is 260, find the other .

A. —297
B. — 277
C. — 266
D. — 256
Answer: A

o Watch Video Solution

16. Find each of the following products :
(3)36z( — 17)

(i1)( — 81)x15

(ii2)( — 23)xz( — 9)

(iv)( — 18)z( — 21)



https://dl.doubtnut.com/l/_kursyza2nUQb
https://dl.doubtnut.com/l/_QPbwCEE9mvrc
https://dl.doubtnut.com/l/_ZKOWqDus7UlU

| ° Watch Video Solution

17. Simplify :

(i)8z( — 13) + 8z9

(id) ( — 12)27 + ( — 12)z( — 4)
(#11)9z( — 16) + ( — 12)z( — 16)

(iv)10z( — 31) + 10z( — 9)

° Watch Video Solution

18. Divide :

(i)( — 115) by 23
(11)168 by (—7)
(i) ( — 272) by ( — 16)

(iv)( — 324) by (— 27)

° Watch Video Solution



https://dl.doubtnut.com/l/_ZKOWqDus7UlU
https://dl.doubtnut.com/l/_WAa3diNZCtYl
https://dl.doubtnut.com/l/_diOojHGuyCyg

19. Fill in the blanks :

(i) —273+..... =1

(#4). . + 137 = —2

() - +238 =0

(i0). oo +(—13) = — 5

° Watch Video Solution

1. Write the opposite of each of the following :

(i) An increase of 8 (ii) A loss of Rs. 7

(iii) Gaining a weight of 5 kg (iv) 10 km above sea level

(v) 5° C below the freezing point (vi) A deposit of Rs. 100
(vii) Earning Rs. 500 (viii) Going 6 m to the east

(ix) 24 (x) — 34

° Watch Video Solution



https://dl.doubtnut.com/l/_8h9PjaIFiCAf
https://dl.doubtnut.com/l/_Dyt19gjLC84x

2. Indicate the following using " + " or ' — "sign:
(i) A gain of Rs. 600 (ii) A loss of Rs. 800

(iii) 7° C below the freezing point (iv) Decrease of 9
(v) 2 km above sea level (vi) 3 km below sea level

(vii) A deposit of Rs. 200 (viii) A withdrawal of Rs. 300

° Watch Video Solution

3. Mark the following integers on a numbe line :
(i) —5 (i1) — 2 (442)0

(iv)7 (v) — 13

° Watch Video Solution

4. Which number is larger in each of the following pairs ?
(i)0, — 2
(i1) —3, — 5

(i) — 5, 2


https://dl.doubtnut.com/l/_JvWdYx1i2GqW
https://dl.doubtnut.com/l/_S0ucbAcwsCC8
https://dl.doubtnut.com/l/_ZevBeDmwmIUn

(iv) — 16, 8
(v) — 365, — 913

(vi) — 888, 8

° Watch Video Solution

5. Which number is smaller in each of the following pairs ?
(i)6, — 7

(i1)0, — 1

(ii3) — 13, — 27

(iv) — 26, 17

(v) — 317, — 603

(vi) — 777, 7

° Watch Video Solution

6. Write all integers between
()0 and 6

(1) — 5 and 0


https://dl.doubtnut.com/l/_ZevBeDmwmIUn
https://dl.doubtnut.com/l/_guDqsoVB8gNZ
https://dl.doubtnut.com/l/_CVgwWTOXWZYD

(i4i) — 3 and 3

(iv) — 7 and —5

° Watch Video Solution

7.Fill in the blanks by appropriate symbol > or < :

(i0........7

(#66) — 5. vees — 2

(iv) -15 ....... 13 (v) -231 ....-132(vi) -6 ..... 6

° Watch Video Solution

8. Write the following integers in the increasing order :
()5, — 7, —2,0,8

(i1) — 23,12,0, — 6, — 100, — 1

(éi3) — 17,15, — 363, — 501, 165

(iv)21, — 106, — 16,16,0, — 2, — 81

.


https://dl.doubtnut.com/l/_CVgwWTOXWZYD
https://dl.doubtnut.com/l/_uQpZoEHLKHLr
https://dl.doubtnut.com/l/_LGSR2yvSDbZm

| ¥ vvatch video sSolution J

9. Write the following integers in the decreasing order :
()0, 7, — 3, —9, — 132,36

(i1)51, — 53, — 8,0, — 2

(é24) — 71, — 81,36,0, — 5

(iv) — 365, — 515,102,413, — 7

° Watch Video Solution

10. Using the number line, write the integer which is
(i) 4 more than 6 (ii) 5 more than — 6

(iii) 6 less than 2 (iv) 2 less than — 3

° Watch Video Solution

11. For each of the following statements , write (T) for true and (F) for

false :


https://dl.doubtnut.com/l/_LGSR2yvSDbZm
https://dl.doubtnut.com/l/_B7sWeBR8AsBw
https://dl.doubtnut.com/l/_ZnQapa7Osxqr
https://dl.doubtnut.com/l/_RxtJeV60bunp

(i) The smallest integer is zero .

(ii) Zero is not an integer .

(iii) The opposite of zero is zero .

(iv) —10 is greater than —6.

(v) The absolute value of an integer is always greater than the integer.
(vi) O is larger than every negative integer.

(vii) Every negative integer is less than every natural number.

(viii) The successor of — 187 is — 188.

(ix) The predeccessor of —215 is — 214.

° Watch Video Solution

12. Find the value of
(i) =9 (i) —36]  (4i7)][0] (iv)[15]

() — | =3 (ui)T+|—3 (vid)|T—4  (viii)8 — | — 7|

° Watch Video Solution



https://dl.doubtnut.com/l/_RxtJeV60bunp
https://dl.doubtnut.com/l/_mTumU7hdVZkX

13. (i) Write five negative integer greater than — 7.

(ii) Write five negative integers less than — 20.

° Watch Video Solution

1. Use the number line and add the following integers :

(0)9+(—6) (i) (—3)+7  (ii)8+ (—8)
W (=) +(=3) @(=49+(=7 ()(-2)+(-8

(vii)3+ (—2) + (—4) (vitg)(— 1)+ (—-2)+(—-3) (iz)b+ (-

° Watch Video Solution

2. Fill in the blanks :
(=3 +(—9) =.......
(@) (-7 +(—8) =.....

(iii)( —9) + 16 = .....


https://dl.doubtnut.com/l/_Uk533FFAq3aU
https://dl.doubtnut.com/l/_M7pKYFFEJMh1
https://dl.doubtnut.com/l/_1y8Z6d5wKy46

(iv)( —13) + 25 = .....
(V)8+ (—17) = ..cen....

(vi)2+ (—12) = ..........

° Watch Video Solution

3.Add :
(1) - 365 w - 73
- 87 - 687
(1i4) - 1065 (tv) — 3596
- 987 - 1089

° Watch Video Solution



https://dl.doubtnut.com/l/_1y8Z6d5wKy46
https://dl.doubtnut.com/l/_VUdDxqNFQU0M

4.Add :

(1) - 206 (1) +178
+ O8 - 69
(114) - 103 (lv) - 493
+312 + 289

° Watch Video Solution

5.Find the sum of

(1)137 and — 354  (4)1001 and — 13

(4i3) — 3057 and 199  (iv) — 36 and 1027

(v) — 389 and — 1032 (vi) — 36 and 100

(vii) 3002 and — 888 (viii) — 18, +25 and — 37

(iz) — 312,29 and 192 (z) — 51, — 203,36 and — 28

° Watch Video Solution



https://dl.doubtnut.com/l/_mvClFymfAYFD
https://dl.doubtnut.com/l/_2j57yF9QRqnJ

6. Find the additive inverse of
(i) — 57 (44)183 (72)0

(iv) — 1001  (v)2054

° Watch Video Solution

7. Write the successor of each one of the following :
(4)201  (42)70 (ii1) — 5

(iv) — 99 (v) — 500

° Watch Video Solution

8. Write the predecessor of each one of the following :
(4)120  (42)79  (434) — 8

(iv) — 141 (v) — 300

° Watch Video Solution



https://dl.doubtnut.com/l/_zS1XkPOFbLWF
https://dl.doubtnut.com/l/_hx9v1nHCzrEU
https://dl.doubtnut.com/l/_8l9OzqRPqzpV
https://dl.doubtnut.com/l/_IIIqYsEghbbw

9. Simplify :
)(—7)+(—9) +12+ ( — 16) (44)37+ (—23) +(—65) +9+ (-

(i36)( — 145) + 79+ ( — 265) + (—41) +2  (3v)1056 + ( — 798) + ( —

° Watch Video Solution

10. A car travelled 60 km to the north of Patna and then 90 km to south

from there. How far from Patna was the car finally ?

° Watch Video Solution

11. A man bought some pencils for Rs 30 and some pens for Rs. 90 . The
next day he again bought some pencils for Rs. 25. Then , he sold all the

pencils for Rs. 20 and the pens for Rs. 70 . What was his net gain or loss ?

° Watch Video Solution



https://dl.doubtnut.com/l/_IIIqYsEghbbw
https://dl.doubtnut.com/l/_MmngzSTxawuv
https://dl.doubtnut.com/l/_yiGml0BjV48b

12. For each of the following statements write (T) for true and (F) for false

(i) The sum of two negative integers is always a negative integer.

(i) The sum of a negative integer and a positive integer is always a
negative integer.

(iii) The sum of an integer and its negative is zero.

(iv) The sum of three different integers can never be zero.

W) | =5 <| -3

(vi) |8 — 5 = [8] + | — 5|

o Watch Video Solution

13.Find an integer a such that
(i)

a+6=0 (i)5+a=0 (iid)a+(—4) =0 (iv)—84+a=0

o Watch Video Solution



https://dl.doubtnut.com/l/_nYQycDuYjIEe
https://dl.doubtnut.com/l/_MZIBPsjVxoxl

1. Subtract :

(i) 18 from — 34 (ii) — 15 from 25 (iii) — 28 from — 43

(iv) 68 from — 37 (v) 219 from O (vi) — 92 from O

(vii) —135 from — 250 (viii) —2768 from — 287(ix) 6240 from — 271

(x) —3012 from 6250

° Watch Video Solution

2.Subtract the sum of —1050 and 813 from — 23.

A 215

B. 216

C.213

D. 214

Answer: D

[


https://dl.doubtnut.com/l/_O0ClrFiTLqD7
https://dl.doubtnut.com/l/_ilHCl1ytS8J6

| Y Watch Video Solution

3.Subtract the sum of —250 and 138 from the sum of 136 and — 272.

A —14
B.—34
C.—24
D.—44
Answer: C

o Watch Video Solution

4. From the sum of 33 and — 47, subtract — 84.

o Watch Video Solution

5.Add — 36 to the difference of —8 and — 68.


https://dl.doubtnut.com/l/_ilHCl1ytS8J6
https://dl.doubtnut.com/l/_r4CdvLieCeeA
https://dl.doubtnut.com/l/_2z8AbwXVAEWR
https://dl.doubtnut.com/l/_0p13hiwdOaW7

A.-96

B. 24

C.-24

D. None of these

Answer: B

o Watch Video Solution

6. Simplify :

(4)[37 — ( — 8)] + [11 — ( — 30)] () —183—(—-17)]+[—22—( —¢

o Watch Video Solution

7.Find 34 — ( — 72) and ( — 72) — 34.Are they equal ?

o Watch Video Solution



https://dl.doubtnut.com/l/_0p13hiwdOaW7
https://dl.doubtnut.com/l/_EGDQPetl2DMs
https://dl.doubtnut.com/l/_kKi7NuaDfA1V
https://dl.doubtnut.com/l/_WMUugDLTicHr

8.The sum of two integers is —13. If one of the numbers is 170 . Find the

other.
A —173
B. — 183
C.—193
D. —163
Answer: B

o Watch Video Solution

9. The sum of two integers is 65. If one of the integers is —47. Find the

other.

A. 312

B. 412

C.112


https://dl.doubtnut.com/l/_WMUugDLTicHr
https://dl.doubtnut.com/l/_niEpgDgoaoTu

D. 212

Answer: C

o Watch Video Solution

10. Which of the following statements are true and which are false ?
(i) The sum of two integers is always an integer.

(ii) The difference of two integers is always an integer.

(i) —14> —8—(—17)

(iv—5—2> —8

M(=7)—-3=(=-3)-(-7)

o Watch Video Solution

1. The point A is on a mountain which is 5, 700 metres above sea level

and the point B is in a mine which is 39, 600 meters below sea level. Find



https://dl.doubtnut.com/l/_niEpgDgoaoTu
https://dl.doubtnut.com/l/_QjwFAQr6vy8e
https://dl.doubtnut.com/l/_ybfioBRiY3fw

the vertical distance between A and B.

A

e T —————————

Sea level

A. 42, 300m

B. 45, 300m

C. 46, 300m

D. 45, 500m

Answer: B

eB

o Watch Video Solution



https://dl.doubtnut.com/l/_ybfioBRiY3fw

12. On a day in Srinagar, the temperature at 6 p.m. was 1°C but at
midnight that day . It dropped to —4°C. By how many degrees Celstus
did the temperature fall ?

A —5°C

B.3°C

c.-3°C

D.5°C

Answer: C

o Watch Video Solution

1. Multiply :

()15 by 9(i4)18 by — 7(i4i)29 by — 11(iv) — 18 by 13


https://dl.doubtnut.com/l/_ybfioBRiY3fw
https://dl.doubtnut.com/l/_4xx8r7spr01z
https://dl.doubtnut.com/l/_ftIB5DabKxOR

(v) —56 by 16(vi)32 by — 21(vii) — 57 by O0(viii)0 by — 31
(ix)

—12 by —9(z) — 746 by —8(£)118 by — 7(&ii) — 238 by — 143

° Watch Video Solution

2. Find the products :
(i)
(—2)x3x(—4) (i1)2x(—5) x(—6) (i1)( — 8) x 3 x5

(M8 xTx(—10) (0)(—3)x(—17) x(—6)

° Watch Video Solution

3. Use convenient groupings and find the values of
(i) 18 x ( — 27) x 30

(ii) (-8) xx (-63) xx 9 (44%) (-17) xx (-23) xx 41" " (iv) (-51) xx (-47) xx (-19)'

° Watch Video Solution



https://dl.doubtnut.com/l/_ftIB5DabKxOR
https://dl.doubtnut.com/l/_4YjvxU7XtEni
https://dl.doubtnut.com/l/_sP3TBHBf9Sbx
https://dl.doubtnut.com/l/_kj2YrvTmvkJW

4. Verify the following :
MH18Xx[94+(—7)]=18x9+18x (—T7)
(ii)

(—13)x[(-6)+(—19)]=(—-13) x (—6)+(—13) x (—19)

° Watch Video Solution

5. Complete the following multiplication table :

o =G =3 el 0 1
-3 '

-2 —— —)

")
(5]

- ; = TS —

|w| 0| =0

° Watch Video Solution

6. Which of the following statements are true and which are false ?
(i) The product of a positive integer and a negative integer is negative.

(if) The product of two negative integers is a negative integer.


https://dl.doubtnut.com/l/_kj2YrvTmvkJW
https://dl.doubtnut.com/l/_3i4giv15buBa
https://dl.doubtnut.com/l/_0dES7kwA0ZIP

(iii) The product of three negative integers is a negative integer.

(iv) Every integer when multiplied with - 1 gives its multiplicative inverse.

° Watch Video Solution

7.simplify :
MN(—9) x6+(—9) x4 (id)8x (—12)+7x (—12)

(iii)

30 x (—22) +30 x (14)  (iv)( —15) x (—14) 4+ ( — 15) x (— 6)
(V)43 x (—33) +43 x (—17)  (vi)( —36) x (72) + ( — 36) x 28

(vii) (— 27) x (= 16) + ( — 27) x ( — 14)

° Watch Video Solution

1.Divide: ()85 by — 17(ii) — 72 by 18(iii) — 80 by 16

(iv) — 121 by 11(v)108 by — 12(vi) — 161 by 23


https://dl.doubtnut.com/l/_0dES7kwA0ZIP
https://dl.doubtnut.com/l/_ETOILvM1Serk
https://dl.doubtnut.com/l/_EtPOS33nECZ8

(vii) —76 by — 19(viii) — 147 by — 21(iz) — 639 by — 71
(z) — 15625 by — 125(x4)2067 by — 1(zii)1765 by — 1765

(xiii)0 by — 278(xiv)3000 by — 100

° Watch Video Solution

2.Fill in the blanks :
()80 = (........) = —5
(1) —84) = (ceveen.)= =T

(i5i)(......) = (—5) = 25

W)(cenn) 372 =0
(V)(eo) =1 = — 186
(W) (o) 217 = — 2
(vid) (. ovevn..) 165 = — 1
(vidi)(.oo.) = (= 1) =73
(1)1 + (ceoeenes )= —1

° Watch Video Solution



https://dl.doubtnut.com/l/_EtPOS33nECZ8
https://dl.doubtnut.com/l/_Cg5zP8ivZEx5
https://dl.doubtnut.com/l/_W7EHKzp8Iz82

3. Write (T) for true and (F) for false for each of the following statements :

(i)0+(—6) =0

(i) (—8) =0 =0
(i)s+ (—1) = —15
(iV(—16) ~ (—4) = — 4

M+ (-1)=7
(vi)(—18) +9= —2
(viN20+ (—5)= —4
(viii) (—10) + 1= — 10

)(-1)+(-1)= -1

° Watch Video Solution

Exercise 4 F Objective Questions

1. Which of the following is a true statement ?

A—-4> -3

B.—4< —3


https://dl.doubtnut.com/l/_W7EHKzp8Iz82
https://dl.doubtnut.com/l/_jGpOjPOxOFAD

C—-4= -3

D. non - comparable

Answer: B

° Watch Video Solution

2.2 less than — 3 is

D.5

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_jGpOjPOxOFAD
https://dl.doubtnut.com/l/_V7KJu6W4551l

3.4 morethan —5is

A9

D.1

Answer: C

o Watch Video Solution

4.2 less than — 7 is

C.5

D. none of these


https://dl.doubtnut.com/l/_di4QAQNwQwrw
https://dl.doubtnut.com/l/_FatJzavP5DYR

Answer: a

o Watch Video Solution

57+ -3 =7

A4
B.10°
Cc.—10

D. none of these

Answer: B

o Watch Video Solution

6.(—42) +(—35) = ?


https://dl.doubtnut.com/l/_FatJzavP5DYR
https://dl.doubtnut.com/l/_ndwzQLtuZUps
https://dl.doubtnut.com/l/_CekQs6gELgv8

B.7

C.—T77

D. none of these

Answer: ¢

o Watch Video Solution

7.(—37)+6=71

A.-43
B.-31
C.31

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_CekQs6gELgv8
https://dl.doubtnut.com/l/_C8xKynCIOPgv
https://dl.doubtnut.com/l/_M4F4s1SVfiKp

8.49+ (—27) =72

C.22

D. none of these

Answer: ¢

° Watch Video Solution

9. The successor of — 18 is

A —19
B.17
C.—17

D.19


https://dl.doubtnut.com/l/_M4F4s1SVfiKp
https://dl.doubtnut.com/l/_QoqzLgDDQPXB

Answer: C

° Watch Video Solution

10. The predecessor of — 16 is

A —15

B. —17

C.15

D.17

Answer: B

° Watch Video Solution

11. The additive inverse of — 5 is

A5


https://dl.doubtnut.com/l/_QoqzLgDDQPXB
https://dl.doubtnut.com/l/_qBrajT36cAkF
https://dl.doubtnut.com/l/_jq4Nb1pH1RT9

B.O

Answer: A

o Watch Video Solution

I
-~

12.—-12 — (— 5)

A —17

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_jq4Nb1pH1RT9
https://dl.doubtnut.com/l/_4BSkO9qlNEtV
https://dl.doubtnut.com/l/_Mz3xQmbHwAMC

3.5 (—8) =7

A3

B.13

C.—3

D. none of these

Answer: B

o Watch Video Solution

14. The sum of two integers is -25. If one of them is 30 then the other is

(A)55 (B)5 «(C)-55 (D) None of these

A. 55

B.5

C.—55

D. none of these


https://dl.doubtnut.com/l/_Mz3xQmbHwAMC
https://dl.doubtnut.com/l/_NElPQQFlxHot

Answer: ¢

° Watch Video Solution

15. The sum of two integers is 20. If one of them is — 5 then the other is

A. 25

B. —25

C.15

D. none of these

Answer: A

° Watch Video Solution

16. The sum of two integers is —13. If one of them is 8 then the other is

A —5


https://dl.doubtnut.com/l/_NElPQQFlxHot
https://dl.doubtnut.com/l/_B8ZPpxHU0KSh
https://dl.doubtnut.com/l/_iHK4s6SiPmsA

B.—21

c.’21

D. none of these

Answer: B

° Watch Video Solution

17. On subtracting — 8 from 0O, we get

A —8

B.8

C.+8

D. none of these

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_iHK4s6SiPmsA
https://dl.doubtnut.com/l/_iTLCQ9quBW2w
https://dl.doubtnut.com/l/_q4YFwZFJ7m9L

18.8 + (—8) = ?

A. 16

B.-16

C.o

D.no # ofthese

Answer: ¢

° Watch Video Solution

19.(—6)+4—(—3) =71

C.1

D. none of these


https://dl.doubtnut.com/l/_q4YFwZFJ7m9L
https://dl.doubtnut.com/l/_1abmiMse0VxZ

Answer: ¢

o Watch Video Solution

206~ (—4) =7

A2
B.—10
C.10°

D. none of these

Answer: ¢

o Watch Video Solution

2.(-7+ (-9 +12+(—-16) =7

A.-20


https://dl.doubtnut.com/l/_1abmiMse0VxZ
https://dl.doubtnut.com/l/_PU19TtZZNpPT
https://dl.doubtnut.com/l/_tJKlT0u58wE4

B. 20

C.-12

D. none of these

Answer: A

° Watch Video Solution

22.0n subtracting 8 from —4, we get

A4

B.12°

C.—12

D. none of these

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_tJKlT0u58wE4
https://dl.doubtnut.com/l/_l3xgyRNAGdE8
https://dl.doubtnut.com/l/_zGmLaqA2ugIY

23.0n subtracting —9 from — 6, we get

A —15
B.—3
C.3

D. none of these

Answer: C

° Watch Video Solution

24.0n subtracting — 5 from 10, we get

B.—15

C.15°

D. none of these


https://dl.doubtnut.com/l/_zGmLaqA2ugIY
https://dl.doubtnut.com/l/_HD1C1DrX7djD

Answer: b

° Watch Video Solution

25.(—6)-9=7

A. 54
B. —54
C.+54

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_HD1C1DrX7djD
https://dl.doubtnut.com/l/_gtvy2uIr0h2R
https://dl.doubtnut.com/l/_MIfjDYprLgkc

B.90

C.-18

D. 18

Answer: a

o Watch Video Solution

27.36 div (-9) =?

A4

B.—4

C.+4

D. none of these

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_MIfjDYprLgkc
https://dl.doubtnut.com/l/_bSj5FKZi9dyN

Test Paper 4 A

1. What are integers ? Write all integers from —5 to 5.

° Watch Video Solution

2.In each of the pairs given below, find the larger integer.

M0, —3 (i) —4, —6  (iii) — 99,9 (iv) — 385, — 615

° Watch Video Solution

3. Write the following integers in increasing order :

—18,16,0, — 5,8, — 36, — 1,1

° Watch Video Solution

4. Find the value of :

()9 — | — 6| (41)6 + | — 4 (éi3) — 8 — | — 3|


https://dl.doubtnut.com/l/_W0pDjGaZAUnJ
https://dl.doubtnut.com/l/_tMonsYYQMa5r
https://dl.doubtnut.com/l/_uZjbtamFKRG1
https://dl.doubtnut.com/l/_Zj5R1cmlkYdz

° Watch Video Solution

5. Write four integers less than — 6 and four integers greater than — 6.

° Watch Video Solution

6. Evaluate :
(i)
8+ (—16) (i1)( — 5) + ( — 6) (it1)( — 6) x ( — 8) (iv)( — 3

()30 — (—50)  (vi)( —40) = (—10)  (vid)8 x (—5)  (widd)(

° Watch Video Solution

7.The sum of two integers is — 12 . If one of them is 34. find the other.

A.-46

B.-22


https://dl.doubtnut.com/l/_Zj5R1cmlkYdz
https://dl.doubtnut.com/l/_DQksEuJWAqhA
https://dl.doubtnut.com/l/_zGKkkjx7qHnp
https://dl.doubtnut.com/l/_sPcw7CEJnw0W

C. 22

D. 46

Answer: A

o Watch Video Solution

8. Simplify :
(i)( — 24) x (68) + ( — 24) x 32ii) (-9) x 18 - (-9) x (8)

(i) ( — 147) + ( — 21)(iv) 16 div (-1)

o Watch Video Solution

Test Paper 4 B

1. The successor of — 89 is


https://dl.doubtnut.com/l/_sPcw7CEJnw0W
https://dl.doubtnut.com/l/_5Ilsob8NOkoM
https://dl.doubtnut.com/l/_dR3hslQpMWHt

B.-88

C.90'

D. 88

Answer: B

° Watch Video Solution

2.The predecessor of —99 is — 98 (b) — 100 (c) 98 (d) 100

A.-98

B.-100°

C.98

D. 100

Answer: b

o Watch Video Solution



https://dl.doubtnut.com/l/_dR3hslQpMWHt
https://dl.doubtnut.com/l/_NODx6BjaKOiM
https://dl.doubtnut.com/l/_lAm8bPydME8O

3. Additive inverse of — 23 is

A. (-1)/23

B.1/23

C.23

D.-23

Answer: C

° Watch Video Solution

4.1f (-13 + 6) L -25-(-9), then the correct symbol in the place holder is

D. none of these


https://dl.doubtnut.com/l/_lAm8bPydME8O
https://dl.doubtnut.com/l/_JOA7b3Ilophn

Answer: b

° Watch Video Solution

57+ (-8 =12

A —4
B. —20
C. 20

D.4

Answer: 'c

o Watch Video Solution

6. The integer which is 5 more that ( — 7) is

A —12


https://dl.doubtnut.com/l/_JOA7b3Ilophn
https://dl.doubtnut.com/l/_7WGotLxv1Neq
https://dl.doubtnut.com/l/_TDRKVjyMN2ZU

B.12

D.2

Answer: C

o Watch Video Solution

7.What should be added to 16 to get ( — 31) ?

A.15
B.-15
C.37

D.-47

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_TDRKVjyMN2ZU
https://dl.doubtnut.com/l/_isnuej74HPBI
https://dl.doubtnut.com/l/_vuA5N62N747J

8. When 34 is subtracted from — 36 , we get

A.2

C.70

D.-70

Answer: D

° Watch Video Solution

Test Paper 4 C

1. Fill in the blanks.
(i) —23 — (?) = 15.
(ii) The largest negative integer is ... .

(iii) The smallest positive integer is ... .


https://dl.doubtnut.com/l/_vuA5N62N747J
https://dl.doubtnut.com/l/_lvdTmemfcKIh

(V) (—8) +(—6) —(—3) = euernn...

(v) The predecessor of —200 is ... .

° Watch Video Solution

Test Paper 4 D

1. Write 'T' for true and 'F' for false in each of the following :
(i) O is neither positive nor negative.

(i) —(—36) —1= — 37.

(iii) On the number line — 10 lies to the right of —6.
(iv) O'is an integer.

(v) —| — 15| = — 15.

(vi) | — 40| + 40 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_lvdTmemfcKIh
https://dl.doubtnut.com/l/_vbRbS3ebXRqK

